= o
A & 0l & AF 2 E A A
20138 = =0 &F LB A QTHAL Y ~ AT rd
M QA Dt
My 2RYUNYLSTET(LUT DT /AU HE)
Sl AR0FHH DI LA (25 & @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
oI TH 2 & ot 10,545,836 8,758,312 1,787,524
J| 133,939
< 581,837
Al 9,830,060
S2EAMNLLEERFI (LS T /A T) 5,373,304 4,606,624 766,680
< 247,072
Al 5,126,232
A=0=Z ML AL 2,167,778 2,091,710 76,068
< 80,600
Al 2,087,178
FOHZAF S8 HHX 529,540 577,296 NAT 756
308 MXIEHSOIH 529,540 577,296 NAT 756
06 WSII20UHet2x= 529,540 577,296 NAT 756
Ox. =t NG 2ZTA BiXI
49,890,000& = 109 498,900
OJUZAME & 222X Q2|
30,640,000& » 1H 30,640
SH3 w23t ALY 569,880 561,640 8,240
201 2et24d] 15,880 17,380 A 1,500
01 At 22l 8,480 8,480 0
OU20/NE S 2 222 WX
1,000& * 8% * 1,000% 8,000
O=0EIotRA FAXNLA=Z0H M2 2=
20,000 = 238 = 128 480
02 23=24gHl 7,400 8,900 A 1,500
O2=0EIoRA 23R=
450,000 * 12& 5,400
OA=0EIJStA A2 22|
2,000,000& = 1JH A 2,000
307 21201 A 553,000 527,560 25,440
02 2ItF & E X 73,000 47,560 25,440
Og=0 E30*A 22 60,000,0008 * 14! 60,000
OfnZNE=E HMEBE 29
13,000,000& * 13l 13,000
05 RIZHRI & 3 480,000 480,000 0
OAtOIH StsdE 23
480,000,000& * 14 480,000
405 XHoHF S HI 1,000 16,700 A 15,700
02 =M=l 1,000 4,500 A 3,500
A2 TATFY(EISRAU THHIXIE)
20,000& * 50 1,000
JoMESsHLBER2I 906,758 861,170 45,588
308 XX EHH SOl A 906,758 861,170 45,588




SH: QTHA

My 2RYUNYLSTET(LUT DT /AU HE)
Hel: A== RIS ZEAY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
06 WFII20UHEE2ES 906,758 861,170 45,588
O%s Bilingual ZE 29
40,000,000& =+ 13l 40,000
ONEE doMEdH 29 429,879
~ATANMEHE 2
429,879,000& * 14 429,879
OHZTE JdHMEdH 29 436,879
—SLE0MSHE 2
147,498,000& * 14 147,498
—3JSoHEgdy 29
142,159,000 * 14 142,159
—2HYNMEHME 2
147,222,000& * 14 147,222
QOHESES 2IRNEASE(Z) 161,600 91,604 69,996
< 80,600
Al 81,000
307 glz2tol & 161,600 91,604 69,996
< 80,600
Al 81,000
02 QlZtFAE X 161,600 91,604 69,996
Oz=sstddoMss s
300,000& * 390 117,000
< 36,000
Al 81,000
OMASENHHIEHMS S
446,000& = 1009 44,600
< 44,600
WEEZNE AN 3,205,526 2,514,914 690,612
< 166,472
Al 3,039,054
S80I £E2 Usd =4 1,453,260 1,417,260 36,000
201 Let249] 1,260 1,260 0
01 At 22l 1,260 1,260 0
ORSBANLLEIMAAAS 2
70,0003 = 6H = 33l 1,260
308 XX EHH SOl A 1,452,000 1,416,000 36,000
06 WSII20UHet2x= 1,452,000 1,416,000 36,000
OstwiusHIME X2 (AMH 3%)
38,400,000,000& * 3% 1,152,000
ogn=s &1 294 XA
250,000,000& * 14 250,000
OxE Ssnd 294 XA
10,000,000& * 5041 50,000
QIS LSESHHEE 1,000,750 500,750 500,000
201 Let2dE] 750 750 0




M QA Dt
My 22U YLSTET (LU DYT/AUHE)
S NFKEIMLAY (chel & 9l)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 2324l 750 750 0
OM=4d FSMHY SHOIX SXE=H|
5,000,000& = 15/100 750
306 3 1,000,000 500,000 500,000
01 &3 1,000,000 500,000 500,000
OGNS HES M= 24
1,000,000,000& * 13l 1,000,000
StusSA K& 106,770 110,937 N4 167
201 ¢er24l 1,470 1,470 0
01 At 2t 2l 1,470 1,470 0
Ostusal ASHXE dods =2
70,0003 = 7H « 33| 1,470
307 glz2tol & 72,900 68,499 4,401
02 RIZHE A E X 72,900 68,499 4,401
OESAE Ots S4E 2=2ME 24 X
2 150& = 2,700 * 180 72,900
308 AHXIEHHSOIA 32,400 40,968 A 8,568
06 WSII20UHet2x= 32,400 40,968 A 8,568
ORXH Ols SAE 2xAMWE 2&H X
150& = 1,200 » 180 32,400
StNgAag LANMSSHA(E) 495,900 485,967 9,933
< 148,770
Al 347,130
308 MtXIEHMSOIH 495,900 485,967 9,933
< 148,770
Al 347,130
06 WSII20UHet2x= 495,900 485,967 9,933
Of4=a=pg stnAl N
180& = 14,500 » 190 495,900
< 148,770
Al 347,130
ZESMZATR(Z) 148,846 0 148,846
= 17,702
Al 131,144
308 MtXIEHSOIH 148,846 0 148,846
= 17,702
Al 131,144
06 WSII20UHet2x= 148,846 0 148,846
Ox. st Ra34 XA 148,846
—SXd =SsU(EJIx)
2,200& * 3049 » 190 = 50/100 63,536
< 7,624
Al 55,912




SH: oI A Bt
HE: ZRUHYHS TR (L
Sl DEEHIWLAL

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
—sSHISE s MNE, AxF, SIS,
=H=) 2,600 3059 * 1902 * 50/100 75,335
= 9,040
Al 66,295
- SeXY BD(RAS)
3,000 35% *« 190 * 50/100 9,975
= 1,038
Al 8,937
HEeloe (2L /HSE) 4,566,560 3,464,700 1,101,860
J| 133,939
= 299,465
Al 4,133,156
HEAE &5 1,204,610 209,810 994,800
o=t 90,000
Al 1,114,610
SZ2HSAE 2E 1,050,000 0 1,050,000
401 AlEHIZL 2 0HY| 1,050,000 0 1,050,000
01 Al&H| 1,047,000 0 1,047,000
OSd4+9& AIE&H
100,000,000& = 14! %= 99/100 99,000
02015 220 SUHE HSALE HEA HA
o AAAEH 250,000,000& = 14 250,000
OZ2=224 HESAE A EHIMNX 222 AH2011
HE EYHNEAN ME XH) 698,000,000 1A 698,000
03 AlE 201 Y| 3,000 0 3,000
O2ASLYZE AIZ&FHl 100,000,000 = 1/100 1,000
OZ=Z22 HSAE AEEMNX ELZ2A
200,000,000& * 1/100 2,000
SHHMEANE 29 64,610 49,810 14,800
201 LBt Y| 24,610 19,810 4,800
01 AP 22| d| 4,540 4,540 0
OMESESI=EEE(23H) 4008 = 1,000& 400
O&I|ot™ 22| X+ T =2 (ZEIHESIR)
95,000& = 12& 1,140
OM=so=Ze & d=03 s22 H&
60,000& * 5& x 103 3,000
02 Z=22%H| 20,070 15,270 4,800
OEJIM=3& &I AFEZ 800,000 = 128 9,600
O3BJId=z 2 &4 g2
70,0008 = 23| 140
O2BJIMsg & Az NS
30,000 = 12&€ 360
OZJME3& ol AE2ES
30,000 = 12&€ 360
O2JIM=Eg & RoHHAIAL 22|
180,000& * 12& 2,160

_4_




2N
X ZH -
L= B

el

oI TH & ot
Hegooet IF(2L22/HK)
HISALE 2=

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OsfE &g =reEs=s 50,000& = 23l 100
Os23 Fstx =g 150,000& * 13l 150
O3 HIINEZ 200,000 * 12& 2,400
OB=EZY S7H HIIMER
400,000& = 123 4,800
401 AIEHI L 2CHYI 40,000 30,000 10,000
01 A& HI 40,000 30,000 10,000
OSUHMSEAE 2317 £X
2,000,000& = 15CH 30,000
OSUHMSEAE 2317 2=
200,000& * 5000 2 10,000
YEIOMSHAH AEMNEBAH(E) 90,000 0 90,000
< 90,000
401 Al HIZ 201 8] 90,000 0 90,000
< 90,000
01 A& HI 89,100 0 89, 100
OI=2CUMSHE AMEHESA
89,100,000 * 14l 89,100
< 89,100
03 Al =2 I 900 0 900
OI=ZCUMSHE AMEHESA
900,000& * 1Al 900
< 900
Hssd =4 3,361,950 3,254,890 107,060
J| 133,939
< 209,465
Al 3,018,546
AYE 4 60,000 60,000 0
307 glz2+ol & 60,000 60,000 0
02 QIZtFAE X 60,000 60,000 0
OuYESAME AJNS KB (DH, 24, TH)
50,000,000& * 14l 50,000
OBZAYASHAY AR 2|
10,000,000& * 14l 10,000
M=adA K& 1,458,660 1,187,960 270,700
202 Odl 3,360 3,360 0
01 = LH 4 Hi 3,360 3,360 0
OMAEEI el 70,0008 * 28 » 22 » 123 3,360
301 et a = 6,300 5,600 700
10 HALAHI 242 6,300 5,600 700
OZ=ZMAM=UE It 0|
70,000& * 80Y 5,600
Od=ZMAMSUE HItA OH|
70,000& = 109 700




SN YD
H: oD E(2YBZ/AR)
@4 Ms8d x4 (9 ® =)
2 S 4
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
307 2izto| A 1,449,000 1,179,000 270,000
04 QI2H8H AL = 1,449,000 1,179,000 270,000
OAl MEZ HdeUia 3,000,000& = 14l 3,000
Ok MNEE &d2U3l 3,000,000& = 14! 3,000
ON=2 MNEZ HeUg 2,000,000 = 14! 2,000
OF=ZHAANSUIIXNI &2 95=2
50,000,000 = 100 &= 500,000
OAZEIIED 2= XS 24,000
Ostnd=sse 4 30,000
OMSEIES U HAZ=2 S4 70,000
—EJI&s5 2,500,000& * 10&5 25,000
—FAEE= 2,500,000& = 10&= 25,000
~SYH, ISH2M SR
20,000,000& * 13 20,000
Ossg2asH=0a &IHHH|
1,000,000& *~ 10&= 10,000
Osg d=20U3 zAHES I
10,000,000& = 13 10,000
QZAESECXHMSUHE 2IH(HSE SH2X]
) 50,000& * 80YH 4,000
OHM503 HBE=zstHESUs 2K 3,000
OHM343 A=A HFOHE M= 310,000
— = A I 100,000,000& = 13| 100,000
—-S8s & 10,000,000& = 19J4 190,000
—=Z1ssw & 1,000,000& * 2000 1 20,000
OHMb51e 20N &otEH|
240,000,000& = 13 240,000
OHM51e == d=U3 JHalA ZHIHEH]
10,000,000& = 13l 10,000
OM11g Ix=AAOt2tEWH S HE
210,000,000& = 14 210,000
02013 AT XA =222 Ha HE
20,000,000& * 14! 20,000
MEN=E 4 344,480 279,480 65,000
301 et A= 39,480 39,480 0]
10 HAFAHI B &2 39,480 39,480 0
OME KSR HSED}
70,000& * 8Y * 22 x 43| 4,480
OF=203 & SHSHI|I(HOEE &) =E=2
g =8 1,000,000& * 15&5= 15,000
OEXAD Z=2Y MY SH(ER S)
1,000,000& * 20&= 20,000
307 212t0| & 305,000 240,000 65,000
04 QI2tSH AL & 305,000 240,000 65,000




S QLA
HH: HEome FE(SBSL2F/HK)
@4 Ms8d x4 (9 ® =)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Of= ¢ CHAMEHSUHE R (ZEFE)
40,000,000& * 23l 80,000
OXNMEANZ=SE SHUEHSH HA
30,000,000& * 13l 30,000
OXNMEAN=HE JHYEHSHY =4
5,000,000& * 13l 5,000
OS2 MEBUKH B
5,000,000& * 13l 5,000
OHM23sl 2550 Maysiz =
60,000,000 * 13l 60,000
OAlRIAZ 2D/tHsl 10,000,000& * 23] 20,000
O&d=celd =703 12,000
— XS oLa 10,000,000& = 13l 10,000
—Els =d 1,000,000& * 28 2,000
OAlQI M 23 =1 3l 3,000,000& * 6= 18,000
O20134d =2 822 203
30,000,000& * 13l 30,000
O2013&HI=ZH HOEE U3l
15,000,000& * 13l 15,000
O2013 d=MEHsU2 24
30,000,000& * 13l 30,000
NPHRZ2SHILSLNA(T) 1,185,000 1,120,000 65,000
< 185,000
Al 1,000,000
307 glz2tol & 1,185,000 1,120,000 65,000
< 185,000
Al 1,000,000
02 ItFAEX 1,185,000 1,120,000 65,000
OagE(s4,24 ,2x5)848 N
1,185,000,000& * 14l 1,185,000
< 185,000
Al 1,000,000
ANZOHENNMSE SR (F) 44,160 44,160 0
J| 22,080
Al 22,080
307 glz2+ol & 44,160 44,160 0
J| 22,080
Al 22,080
02 QI2tF A8 X 44,160 44,160 0
OANZoZ24 e =X & XtHH X
22,080,000& * 29H 44,160
J| 22,080
Al 22,080
ANZMEMSX S XIX(2) 132,480 132,480 0
J| 66,240
Al 66,240




HEolmet (2L 22/H=K)
sz =4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 132,480 132,480 0
J| 66,240
Al 66,240
02 QI2tFAB X 132,480 132,480 0
OANZHEHMSR A YR
22,080,000& * 6H 132,480
J| 66,240
Al 66,240
ANZHENSESS2IH XA (Z) 30,000 27,000 3,000
< 6,000
Al 24,000
307 izl & 30,000 27,000 3,000
< 6,000
Al 24,000
02 QI2tF B X 30,000 27,000 3,000
OMetx=s 244l XI& 30,000,000& * 1A 30,000
< 6,000
Al 24,000
MEHSRNAR2I(Z) 42,000 38,500 3,500
< 12,600
Al 29,400
307 21201 A 42,000 38,500 3,500
< 12,600
Al 29,400
04 QIZtHALE & 42,000 38,500 3,500
OMdEHsIA(ZET, HUA S)22
42,000,000& = 14! 42,000
= 12,600
Al 29,400
HEUSHAIE A (Z) 65,170 65,310 A 140
J| 45,619
< 5,865
Al 13,686
307 21201 A 65,170 65,310 A 140
J| 45,619
< 5,865
Al 13,686
02 It A8 X 65,170 65,310 A 140
OMASIY dEN=EH XA
65,170,000& = 14 65,170
J| 45,619
= 5,865
Al 13,686
ZMstE CAISE(US/EM - MHWR) 217,356 240,964 A 23,608
< 11,500
Al 205,856
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M QA Dt
MY HMSE CAZA(DR/EY - WD)
Sl MSESY CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZMstsetets &I A EE2 ME
2,000,000 = 13l 2,000
301 et a = 2,100 2,100 0
10 HALAHI 242 2,100 2,100 0
OBMstses XN AN AUSa
70,000& = 108 » 3« 2,100
307 glz2tol & 49,000 47,000 2,000
02 QlZtFAE X 37,000 35,000 2,000
OdMstsZz ) Z2XA ALY 22,000
— %= Z238 K& 2,000,000& * 574 10,000
—220& 20y X
2,000,000& * 574 10,000
—s5s0tel XA 1,000,000& = 20H A 2,000
Onl2H? ¥EE BasSsI2IY 29
15,000,000 = 14l 15,000
04 QIZ2HEH AL = 12,000 12,000 0
Ogdsrs 35 HA 10,000,000& * 14 10,000
OHM1g Bt Hustsetgal &t
,000,000& = 13 2,000
HMSS0ISXAME(E) 20,000 0 20,000
< 10,000
Al 10,000
307 21201 A 20,000 0 20,000
< 10,000
Al 10,000
02 I A E X 20,000 0 20,000
OgMdsrs0ls AE XJAY
20,000,000 * 14 20,000
< 10,000
Al 10,000
MU LA BMSSEHEINNA(E) 3,000 3,000 0
< 1,500
Al 1,500
206 = Hl 2,400 2,400 0
< 1,200
Al 1,200
01 =8l 2,400 2,400 0
OMEE Mz FHl 4,000& » 2000 * 3 2,400
< 1,200
Al 1,200
301 et d = 600 600 0
< 300
Al 300
10 #ALAHI 2 A3 600 600 0
OSHALE IR Al 24 60,000& = 109 600

_11_




M oIS
M BMES CAZM(DS/BM - NADR)
Sl NS CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 300
Al 300
FUSANSH(MI=ER/ES - HFL0H) 276,962 279,540 N2,578
< 23,800
Al 253,162
HAS S ALY 260,962 263,540 N2,578
< 19,000
Al 241,962
& u=s(0l=,500) 197,662 200,240 A2,578
101 @14 Hl 20,222 18,620 1,602
04 JIZHHZ22XRHEES 20,222 18,620 1,602
Ousxd el 11,666
— o2 38,880& * 29 120 9,332
-5 38,8803 * 2% x 24« 1,867
—E XY 38,8803 * 2H » 6 467
Os0l8 EEnA 2 8,556
— o2 38,8803 * 2% x 90¢ 6,999
—F=54 38,8803 * 2% » 16 1,245
— 3= 38,8803 * 29 x 4« 312
201 Let2d] 7,720 10,520 A 2,800
01 At 22l 7,720 10,520 A 2,800
OBMsIsdEH 29233 A¥ =¥
70,000& * 8% « 43] 2,240
OAMBlun=2d wsulf R
5,0002 * 30 * 51t= » 23 1,500
OAMBlun=2% &% 60,0008 » 501 » 28 600
OgpsADnA B8 Hag
0,000& = 2J4 * 23| 240
ONIDS WY L +BA 4o
60,0003 = 201 = 23l 240
OAMBlnE =z 2 AHAal 1,000& * 1,00004 1,000
OJlzus AW A4 dXN=Z(FFEH)
4,000 * 35% « 83 1,120
ONESAE 28 &9 60,000& * 3K 180
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